RESEARCH

Open Access

Convergence theorems for continuous pseudocontractive mappings in Banach spaces

Weiping Guo¹, Min Seok Choi² and Yeol Je Cho^{2,3*}

^{*}Correspondence: yjcho@gnu.ac.kr ²Department of Mathematics Education and the RINS, College of Education, Gyeongsang National University, Chinju, 660-701, Korea ³Department of Mathematics, King Abdulaziz University, Jeddah, 21589, Saudi Arabia

Full list of author information is available at the end of the article

Abstract

In this paper, we prove some strong and weak convergence theorems for continuous pseudocontractive mapping and a weak convergence theorem for nonexpansive mapping in real uniformly convex Banach spaces. As an application of the strong convergence theorem, we give an interesting example.

Keywords: uniformly convex Banach space; pseudocontractive mapping; nonexpansive mapping; implicit iteration process; convergence theorem

1 Introduction and preliminaries

Throughout this paper, we assume that *E* is a real Banach space, E^* is the dual space of *E* and $J: E \to 2^{E^*}$ is the normalized duality mapping defined by

$$J(x) = \left\{ f \in E^* : \langle x, f \rangle = ||x|| ||f||, ||f|| = ||x|| \right\}$$

for all $x \in E$, where $\langle \cdot, \cdot \rangle$ denotes duality pairing between *E* and *E*^{*}. A single-valued normalized duality mapping is denoted by *j*.

Let *C* be a nonempty closed convex subset of a real Banach space *E*. A mapping $T : C \rightarrow C$ is said to be *pseudocontractive* [1] if, for any $x, y \in C$, there exists $j(x - y) \in J(x - y)$ such that

$$\langle Tx - Ty, j(x - y) \rangle \le ||x - y||^2.$$
 (1.1)

It is well known [2] that (1.1) is equivalent to the following:

$$\|x - y\| \le \|x - y + s[(I - T)x - (I - T)y]\|$$
(1.2)

for all s > 0 and $x, y \in C$.

A mapping $T: C \rightarrow C$ is said to be *nonexpansive* if

 $\|Tx - Ty\| \le \|x - y\|$

for all $x, y \in C$.

Remark 1.1 It is easy to see that, if *T* is nonexpansive, then *T* is continuous pseudocontractive, but the converse is not true in general.

©2014 Guo et al.; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/2.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.



Example 1.1 Let $E = (-\infty, \infty)$ with the usual norm $|\cdot|$. Then $E^* = E$, $\langle x, f \rangle = xf$ for all $x \in E$ and $f \in E^*$ and the normalized duality mapping $J : E \to 2^{E^*}$ is as follows:

$$J(x) = \{ f \in E^* : \langle x, f \rangle = |x| | f |, |f| = |x| \} = \{x\}$$

for all $x \in E$. Let C = E and define a mapping $T : C \to C$ by Tx = -2x for all $x \in C$. It is easy to prove that T is continuous pseudocontractive, but not nonexpansive.

In 1974, Deimling [3] proved the following fixed point theorem.

Theorem 1.1 Let *E* be a real Banach space, *C* be a nonempty closed convex subset of *E*, and $T: C \rightarrow C$ be a continuous strongly pseudocontractive mapping. Then *T* has a unique fixed point in *C*.

Let *E* be a real Banach space, *C* be a nonempty closed convex subset of *E* and $T : C \to C$ be a continuous pseudocontractive mapping. For all $u \in C$ and $t \in (0,1)$, define the mapping $S_t : C \to C$ by

$$S_t x = tu + (1-t)Tx$$

for all $x \in C$. It is easy to prove that S_t is a continuous strongly pseudocontractive mapping. By Theorem 1.1, there exists a unique fixed point $x_t \in C$ of S_t such that

$$x_t = tu + (1-t)Tx_t$$

for all $t \in (0, 1)$.

Let $T : C \to C$ be a continuous pseudocontractive mapping and define an implicit iteration process $\{x_n\}$ by

$$\begin{cases} x_0 \in C, \\ x_n = \alpha_n x_{n-1} + (1 - \alpha_n) T x_n \end{cases}$$

$$(1.3)$$

for each $n \ge 1$, where $\{\alpha_n\}$ is a sequence in (0, 1) with some conditions.

In 2008, Zhou [4] studied the implicit iteration process (1.3) and proved a weak convergence theorem for the strict pseudocontraction in a real reflexive Banach space which satisfies Opial's condition.

The purpose of this paper is to discuss the implicit iteration process (1.3) and to prove some strong and weak convergence theorems for a continuous pseudocontractive mapping and a weak convergence theorem for a nonexpansive mapping in real uniformly convex Banach spaces. As an application of the strong convergence theorem, we give an interesting example.

In order to prove the main results, we need the following:

A Banach space *E* is said to satisfy *Opial's condition* [5] if, for any sequence $\{x_n\}$ of *E*, $x_n \to x$ weakly as $n \to \infty$ implies that

 $\limsup_{n\to\infty} \|x_n - x\| < \limsup_{n\to\infty} \|x_n - y\|$

for all $y \in E$ with $y \neq x$. A Banach space *E* is said to have the *Kadec-Klee property* [6] if, for every sequence $\{x_n\}$ in *E*, $x_n \to x$ weakly and $||x_n|| \to ||x||$, it follows that $x_n \to x$ strongly.

Lemma 1.1 ([7]) Let *E* be a uniformly convex Banach space with the modulus of uniform convexity δ_E . Then $\delta_E : [0,2] \rightarrow [0,1]$ is continuous, increasing, $\delta_E(0) = 0$, $\delta_E(t) > 0$ for t > 0 and, further,

$$\|cu + (1-c)v\| \le 1-2\min\{c, 1-c\}\delta_E(\|u-v\|)$$

whenever $0 \le c \le 1$ *and* $||u||, ||v|| \le 1$.

Lemma 1.2 ([8]) Let X be a uniformly convex Banach space and C be a convex subset of X. Then there exists a strictly increasing continuous convex function $\gamma : [0, \infty) \rightarrow [0, \infty)$ with $\gamma(0) = 0$ such that, for each $S : C \rightarrow C$ with Lipschitz constant L,

$$\left\|\alpha Sx + (1-\alpha)Sy - S\left[\alpha x + (1-\alpha)y\right]\right\| \le L\gamma^{-1}\left(\|x-y\| - \frac{1}{L}\|Sx - Sy\|\right)$$

for all $x, y \in C$ and $0 < \alpha < 1$.

Lemma 1.3 ([8]) Let X be a uniformly convex Banach space such that its dual space X^* has the Kadec-Klee property. Suppose that $\{x_n\}$ is a bounded sequence and $f_1, f_2 \in W_w(\{x_n\})$ (where $W_w(\{x_n\})$ denotes the set of all weak subsequential limits of a bounded sequence $\{x_n\}$ in X) such that

$$\lim_{n\to\infty} \left\| \alpha x_n + (1-\alpha)f_1 - f_2 \right\|$$

exists for all $\alpha \in [0,1]$ *. Then* $f_1 = f_2$ *.*

Lemma 1.4 ([4]) Let *E* be a real uniformly convex Banach space, *C* be a nonempty closed convex subset of *E* and $T : C \to C$ be a continuous pseudocontractive mapping. Then I - T is semi-closed at zero, i.e., for each sequence $\{x_n\}$ in *C*, if $\{x_n\}$ converges weakly to $q \in C$ and $\{(I - T)x_n\}$ converges strongly to 0, then (I - T)q = 0.

2 Convergence for continuous pseudocontractive mappings

Lemma 2.1 Let *E* be a real uniformly convex Banach space, *C* be a nonempty closed convex subset of *E* and $T: C \to C$ be a continuous pseudocontractive mapping with $F(T) = \{x \in C: Tx = x\} \neq \emptyset$. Let $\{x_n\}$ be defined by (1.3), where $\alpha_n \in (0, 1)$ and $\limsup_{n\to\infty} \alpha_n < 1$. Then

- (1) $||x_n p|| \le ||x_{n-1} p||$ for all $n \ge 1$ and all $p \in F(T)$;
- (2) $\lim_{n\to\infty} ||x_n p||$ exists for all $p \in F(T)$;
- (3) $\lim_{n\to\infty} d(x_n, F(T))$ exists;
- (4) $\lim_{n\to\infty} ||x_n Tx_n|| = 0.$

Proof For all $n \ge 1$ and $p \in F(T)$, since *T* is pseudocontractive, it follows from (1.3) that

$$\|x_n - p\|^2 = \langle x_n - p, j(x_n - p) \rangle$$

= $\alpha_n \langle x_{n-1} - p, j(x_n - p) \rangle + (1 - \alpha_n) \langle Tx_n - p, j(x_n - p) \rangle$
 $\leq \alpha_n \|x_{n-1} - p\| \|x_n - p\| + (1 - \alpha_n) \|x_n - p\|^2,$

which implies that $||x_n - p|| \le ||x_{n-1} - p||$ and $d(x_n, F(T)) \le d(x_{n-1}, F(T))$. Therefore, $\lim_{n\to\infty} ||x_n - p||$ and $\lim_{n\to\infty} d(x_n, F(T))$ exist. Thus (1), (2), and (3) are proved.

Now, we prove (4). By using (1.2), (1.3), and Lemma 1.1, it follows that, for all $p \in F(T)$,

$$\|x_n - p\| \le \|x_n - p + \frac{1 - \alpha_n}{2\alpha_n} (x_n - Tx_n)\|$$

= $\|x_n - p + \frac{1 - \alpha_n}{2} (x_{n-1} - Tx_n)\|$
= $\|x_n - p + \frac{x_{n-1} - x_n}{2}\|$
= $\|\frac{x_{n-1} + x_n}{2} - p\|$
= $\|x_{n-1} - p\| \|\frac{1}{2} \frac{x_{n-1} - p}{\|x_{n-1} - p\|} + \frac{1}{2} \frac{x_n - p}{\|x_{n-1} - p\|}$
 $\le \|x_{n-1} - p\| \Big[1 - \delta_E \Big(\frac{\|x_n - x_{n-1}\|}{\|x_{n-1} - p\|} \Big) \Big].$

This implies that

$$\|x_{n-1}-p\|\delta_E\left(\frac{\|x_n-x_{n-1}\|}{\|x_{n-1}-p\|}\right) \le \|x_{n-1}-p\|-\|x_n-p\|.$$

If $||x_n - p|| \to 0$, then we have $x_n - x_{n-1} \to 0$ as $n \to \infty$ by the properties of δ_E . It follows from $||x_{n-1} - Tx_n|| = \frac{1}{1-\alpha_n} ||x_n - x_{n-1}||$ and $\limsup_{n\to\infty} \alpha_n < 1$ that $x_{n-1} - Tx_n \to 0$ as $n \to \infty$ and so

$$||x_n - Tx_n|| = \alpha_n ||x_{n-1} - Tx_n|| \le ||x_{n-1} - Tx_n|| \to 0$$

as $n \to \infty$.

If $||x_n - p|| \to 0$, then, since *T* is continuous, it follows that

$$\lim_{n \to \infty} \|x_n - Tx_n\| = \|p - Tp\| = 0.$$

This completes the proof.

Theorem 2.1 Under the assumptions of Lemma 2.1, $\{x_n\}$ converges strongly to a fixed point of *T* if and only if $\liminf_{n\to\infty} d(x_n, F(T)) = 0$.

Proof The necessity is obvious. So, we will prove the sufficiency. Assume that

$$\liminf_{n\to\infty}d(x_n,F(T))=0.$$

By Lemma 2.1, limit $\lim_{n\to\infty} d(x_n, F(T))$ exists and so $\lim_{n\to\infty} d(x_n, F(T)) = 0$.

Now, we show that $\{x_n\}$ is a Cauchy sequence in *C*. In fact, it follows from Lemma 2.1 that $||x_m - p|| \le ||x_n - p||$ for all positive integers *m*, *n* with $m > n \ge 1$ and $p \in F(T)$. So,

$$||x_m - x_n|| \le ||x_n - p|| + ||x_m - p|| \le 2||x_n - p||.$$

Taking the infimum over all $p \in F(T)$, we have

$$\|x_m - x_n\| \leq 2d(x_n, F(T)).$$

It follows from $\lim_{n\to\infty} d(x_n, F(T)) = 0$ that $\{x_n\}$ is a Cauchy sequence. *C* is a closed subset of *E* and so $\{x_n\}$ converges strongly to some $q \in C$. Further, by the continuity of *T*, it is easy to prove that F(T) is closed and it follows from $\lim_{n\to\infty} d(x_n, F(T)) = 0$ that $q \in F(T)$. This completes the proof.

Corollary 2.1 Under the assumptions of Lemma 2.1, $\{x_n\}$ converges strongly to a fixed point p of T if and only if there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $\{x_{n_k}\}$ converges strongly to p.

Proof Since

$$\liminf_{n\to\infty} d(x_n, F(T)) \leq \liminf_{k\to\infty} d(x_{n_k}, F(T)) \leq \lim_{k\to\infty} \|x_{n_k} - p\|$$

it follows from Theorem 2.1 that Corollary 2.1 holds. This completes the proof. $\hfill \Box$

Theorem 2.2 Under the assumptions of Lemma 2.1, if there exists a nondecreasing function $f : [0, \infty) \rightarrow [0, \infty)$ with f(0) = 0 and f(r) > 0 for all $r \in (0, \infty)$ such that

 $f(d(x,F(T))) \le ||x-Tx||$

for all $x \in C$, then $\{x_n\}$ converges strongly to a fixed point of T.

Proof Since $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ by Lemma 2.1 and so $\lim_{n\to\infty} f(d(x_n, F(T))) = 0$. Further, by using Lemma 2.1 $\lim_{n\to\infty} d(x_n, F(T))$ exists, and we assume $\lim_{n\to\infty} d(x_n, F(T)) = r$.

If r > 0, there exists a positive integer *N* such that $d(x_n, F(T)) > \frac{r}{2}$ for all n > N. Thus we have

$$\lim_{n\to\infty}f(d(x_n,F(T)))\geq f\left(\frac{r}{2}\right)>0,$$

which is a contradiction. Therefore, r = 0. It follows from Theorem 2.1 that Theorem 2.2 holds. This completes the proof.

Definition 2.1 ([9]) Let *E* be a real normed linear space, *C* be a nonempty subset of *E*, and $T: C \rightarrow E$ be a mapping. The pair (T, C) is said to satisfy the *condition* (A) if, for any bounded closed subset *G* of *C*, $\{z = x - Tx : x \in G\}$ is a closed subset of *E*.

Now, we prove strong convergence and weak convergence theorems for a continuous pseudocontractive mapping in real uniformly convex Banach spaces.

Theorem 2.3 Under the assumptions of Lemma 2.1, if the pair (T, C) satisfies the condition (A), then $\{x_n\}$ converges strongly to a fixed point of T.

Proof The sequence $\{x_n\}$ is bounded in *C* by Lemma 2.1. Letting $G = \overline{\{x_n\}}$, where \overline{A} denotes the closure of *A*, *G* is a bounded closed subset of *C* and so $M = \{z = x - Tx : x \in G\}$ is a closed

subset of *E* since the pair (*T*, *C*) satisfies the condition (A). It follows from $\{x_n - Tx_n\} \subset M$ and $x_n - Tx_n \to 0$ as $n \to \infty$ by Lemma 2.1(3) that the zero vector $0 \in M$ and so there exists $q \in G$ such that q = Tq. This shows that q is a fixed point of *T* and so there exists a positive integer n_0 such that $x_{n_0} = q$ or there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $x_{n_k} \to q$ as $n \to \infty$.

If $x_{n_0} = q$, then it follows from Lemma 2.1(1) that $x_n = q$ for all $n \ge n_0$ and so $x_n \to q$ as $n \to \infty$.

If $x_{n_k} \to q$, then, since $\lim_{n \to \infty} ||x_n - q||$ exists by Lemma 2.1(2), $x_n \to q$ as $n \to \infty$. This completes the proof.

As an application of Theorem 2.1, we give the following.

Example 2.1 Let $E = (-\infty, \infty)$ with the usual norm $|\cdot|$. Then $E^* = E$, $\langle x, f \rangle = xf$ for all $x \in E$ and $f \in E^*$ and $J(x) = \{x\}$ for all $x \in E$. Let $C = [0, \infty)$. Define a mapping $T : C \to C$ by

$$Tx = \begin{cases} \frac{1}{4}, & 0 \le x \le \frac{1}{2}, \\ \frac{1}{2}x, & \frac{1}{2} < x < \infty. \end{cases}$$

Then *T* is continuous pseudocontractive with $F(T) = \{\frac{1}{4}\}$ and the pair (T, C) satisfies the condition (A). In fact, for all $x \in [0, \frac{1}{2}]$ and $y \in (\frac{1}{2}, \infty)$, we have 4x < 2y + 1 and so

$$0 < \frac{1}{2}y - \frac{1}{4} < y - x.$$
(2.1)

For all $x \in (\frac{1}{2}, \infty)$ and $y \in [0, \frac{1}{2}]$, we obtain 4y < 2x + 1 and so

$$0 < \frac{1}{2}x - \frac{1}{4} < x - y.$$
(2.2)

Thus, for all $x, y \in C$, taking $j(x - y) = x - y \in J(x - y)$, it follows from (2.1) and (2.2) that

$$\begin{split} &\langle Tx - Ty, j(x - y) \rangle \\ &= \begin{cases} \langle \frac{1}{4} - \frac{1}{4}, x - y \rangle = 0 \leq |x - y|^2, & x, y \in [0, \frac{1}{2}], \\ \langle \frac{1}{4} - \frac{1}{2}y, x - y \rangle = (\frac{1}{2}y - \frac{1}{4})(y - x) < |x - y|^2, & x \in [0, \frac{1}{2}], y \in (\frac{1}{2}, \infty), \\ \langle \frac{1}{2}x - \frac{1}{4}, x - y \rangle = (\frac{1}{2}x - \frac{1}{4})(x - y) < |x - y|^2, & x \in (\frac{1}{2}, \infty), y \in [0, \frac{1}{2}], \\ \langle \frac{1}{2}x - \frac{1}{2}y, x - y \rangle = \frac{1}{2}(x - y)^2 \leq |x - y|^2, & x, y \in (\frac{1}{2}, \infty). \end{cases}$$

This shows that T is continuous pseudocontractive.

Now, we prove that the pair (T, C) satisfies the condition (A). For any bounded closed subset *G* of *C*, we denote $M = \{z = x - Tx : x \in G\}$. Then *M* is closed. Indeed, for any $z_n \in M$ with $z_n \to z$, there exists $x_n \in G$ such that $z_n = x_n - Tx_n$. We consider the following cases.

Case 1. There exists a positive integer n_0 such that $x_n \in [0, \frac{1}{2}]$ for all $n \ge n_0$. Case 2. There exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $x_{n_k} \in (\frac{1}{2}, \infty)$ for all $k \ge 1$.

If Case 1 holds, then $z_n = x_n - Tx_n = x_n - \frac{1}{4}$ for all $n \ge n_0$ and so $x_n = z_n + \frac{1}{4} \rightarrow z + \frac{1}{4} \in [0, \frac{1}{2}]$ as $n \rightarrow \infty$. Since *G* is closed, it follows that $z + \frac{1}{4} \in G$ and so $z = (z + \frac{1}{4}) - T(z + \frac{1}{4}) \in M$. If Case 2 holds, then $z_{n_k} = x_{n_k} - Tx_{n_k} = \frac{1}{2}x_{n_k}$ for all $k \ge 1$ and so $x_{n_k} = 2z_{n_k} \to 2z \in G$. If $2z = \frac{1}{2}$, we have $z = \frac{1}{4} = \frac{1}{2} - T\frac{1}{2} = 2z - T(2z) \in M$. Otherwise, we have $2z \in (\frac{1}{2}, \infty)$ and so $z = 2z - T(2z) \in M$.

By Theorem 1.1, it is easy to prove that, for any $x_0 \in C$, there exists a unique $x_n \in C$ such that

$$x_n = \alpha_n x_{n-1} + (1 - \alpha_n) T x_n$$

for all $n \ge 1$, where $\alpha_n = \frac{2n}{3n+1} \in (0, 1)$ for all $n \ge 1$ and

$$\limsup_{n\to\infty}\alpha_n=\lim_{n\to\infty}\alpha_n=\frac{2}{3}<1.$$

Thus it follows from Theorem 2.3 that the sequence $\{x_n\}$ converges to $\frac{1}{4}$.

Theorem 2.4 Under the assumptions of Lemma 2.1, if *E* satisfies Opial's condition, then $\{x_n\}$ converges weakly to a fixed point of *T*.

Proof Since $\{x_n\}$ is bounded by Lemma 2.1 and *E* is reflexive, there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ which converges weakly to a point $p \in C$. By Lemma 2.1, we have $\lim_{k\to\infty} ||x_{n_k} - Tx_{n_k}|| = 0$. It follows from Lemma 1.4 that $p \in F(T)$.

Now, we prove that $\{x_n\}$ converges weakly to p. Suppose that there exists a subsequence $\{x_{m_j}\}$ of $\{x_n\}$ such that $\{x_{m_j}\}$ converges weakly to a point $p^* \in C$. Then $p = p^*$. In fact, if $p \neq p^*$, then it follows from Opial's condition that

$$\lim_{n \to \infty} \|x_n - p\| = \limsup_{k \to \infty} \|x_{n_k} - p\| < \limsup_{k \to \infty} \|x_{n_k} - p^*\| = \lim_{n \to \infty} \|x_n - p^*\|$$
$$= \limsup_{j \to \infty} \|x_{n_j} - p^*\| < \limsup_{j \to \infty} \|x_{n_j} - p\| = \lim_{n \to \infty} \|x_n - p\|,$$

which is a contradiction. So $p = p^*$. Therefore, $\{x_n\}$ converges weakly to a fixed point of *T*. This completes the proof.

Remark 2.1 By Remark 1.1, clearly, Theorems 2.1, 2.2, 2.3 and 2.4 still hold for nonexpansive mappings.

3 Weak convergence for nonexpansive mappings

In this section, we prove a weak convergence theorem for a nonexpansive mapping in real uniformly convex Banach spaces.

Lemma 3.1 Let *E* be a real uniformly convex Banach space and *C* be a nonempty closed convex subset of *E*. Let $T : C \to C$ be a nonexpansive mapping with $F(T) \neq \emptyset$ and $\{x_n\}$ be the sequence defined by (1.3), where $\alpha_n \in (0, 1)$ and $\limsup_{n\to\infty} \alpha_n < 1$. Then, for all $p_1, p_2 \in F(T)$, the limit $\lim_{n\to\infty} \|tx_n + (1-t)p_1 - p_2\|$ exists for all $t \in [0, 1]$.

Proof Letting $a_n(t) = ||tx_n + (1-t)p_1 - p_2||$ for all $t \in [0,1]$, $\lim_{n\to\infty} a_n(0) = ||p_1 - p_2||$ and $\lim_{n\to\infty} a_n(1) = \lim_{n\to\infty} ||x_n - p_2||$ exists by Remark 1.1 and Lemma 2.1. Thus it remains to

prove Lemma 3.1 for any $t \in (0,1)$. For all $n \ge 1$ and $x \in C$, we define a mapping $A_{x,n-1}$: $C \to C$ by

$$A_{x,n-1}y = \alpha_n x + (1 - \alpha_n)Ty$$

for all $y \in C$. Then we have

$$||A_{x,n-1}u - A_{x,n-1}v|| = (1 - \alpha_n)||Tu - Tv|| \le (1 - \alpha_n)||u - v||$$

for all $u, v \in C$. It follows from $0 < 1 - \alpha_n < 1$ that $A_{x,n-1}$ is contractive and so it has a unique fixed point in *C*, which is denoted by $G_{n-1}x$. Define a mapping $G_n : C \to C$ by

$$G_n = \alpha_{n+1}I + (1 - \alpha_{n+1})TG_n, \tag{3.1}$$

where I is a identity mapping. It follows from (3.1) that

$$||G_n x - G_n y|| \le \alpha_{n+1} ||x - y|| + (1 - \alpha_{n+1}) ||G_n x - G_n y||$$

for all $x, y \in C$ and so

$$\|G_n x - G_n y\| \le \|x - y\|. \tag{3.2}$$

Using (3.1) and (1.3), we obtain

$$\|G_n x_n - x_{n+1}\| \le (1 - \alpha_{n+1}) \|G_n x_n - x_{n+1}\|$$
(3.3)

and

$$\|G_n p - p\| \le (1 - \alpha_{n+1}) \|G_n p - p\|$$
(3.4)

for all $p \in F(T)$. It follows from (3.3), (3.4) and $0 < 1 - \alpha_{n+1} < 1$ that $G_n x_n = x_{n+1}$ and $G_n p = p$. For each $m \ge 1$, let

$$S_{n,m} = G_{n+m-1}G_{n+m-2}\cdots G_m$$

and

$$b_{n,m} = \left\| S_{n,m} \left(t x_n + (1-t) p_1 \right) - \left(t S_{n,m} x_n + (1-t) S_{n,m} p_1 \right) \right\|.$$
(3.5)

By (3.2), we have

$$||S_{n,m}x - S_{n,m}y|| \le ||x - y||$$

for all $x, y \in C$. This shows that $S_{n,m}$ is nonexpansive, $S_{n,m}x_n = x_{n+m}$ and $S_{n,m}p = p$ for all $p \in F(T)$. By Lemma 1.2, we obtain

$$b_{n,m} \le \gamma^{-1} (\|x_n - p_1\| - \|x_{n+m} - p_1\|).$$
(3.6)

It is easy to prove that

$$a_{n+m}(t) \leq ||tx_n + (1-t)p_1 - p_2|| + b_{n,m} \leq a_n(t) + b_{n,m}$$
$$\leq a_n(t) + \gamma^{-1} (||x_n - p_1|| - ||x_{n+m} - p_1||).$$

For fixed *n* and letting $m \to \infty$, we have

$$\limsup_{m\to\infty} a_m(t) \leq a_n(t) + \gamma^{-1} \Big(\|x_n - p_1\| - \lim_{m\to\infty} \|x_m - p_1\| \Big).$$

Again, letting $n \to \infty$, we obtain

$$\limsup_{n\to\infty} a_n(t) \leq \liminf_{n\to\infty} a_n(t) + \gamma^{-1}(0) = \liminf_{n\to\infty} a_n(t).$$

This shows that

$$\lim_{n\to\infty} \left\| tx_n + (1-t)p_1 - p_2 \right\|$$

exists for all $t \in (0, 1)$. This completes the proof.

Theorem 3.1 Under the assumptions of Lemma 3.1, if the dual space E^* of E has the Kadec-Klee property, then $\{x_n\}$ converges weakly to a fixed point of T.

Proof Using the same method as in the proof of Theorem 2.4, we can prove that there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$, which converges weakly to a point $p \in F(T)$.

Now, we prove that $\{x_n\}$ converges weakly to p. Suppose that there exists a subsequence $\{x_{m_j}\}$ of $\{x_n\}$ such that $\{x_{m_j}\}$ converges weakly to a point $p^* \in C$. Then $p = p^*$. In fact, it follows from Lemma 3.1 that the limit

 $\lim_{n\to\infty} \left\| tx_n + (1-t)p - p^* \right\|$

exists for all $t \in [0, 1]$. Again, since $p, p^* \in W_w(\{x_n\})$, we have $p^* = p$ by Lemma 1.3. This shows that $\{x_n\}$ converges weakly to p. This completes the proof.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

All authors contributed equally to this paper and they read and approved the final manuscript.

Author details

¹School of Mathematics and Physics, Suzhou University of Science and Technology, Suzhou, Jiangsu 215009, P.R. China. ²Department of Mathematics Education and the RINS, College of Education, Gyeongsang National University, Chinju, 660-701, Korea. ³Department of Mathematics, King Abdulaziz University, Jeddah, 21589, Saudi Arabia.

Acknowledgements

The project was supported by the National Natural Science Foundation of China (Grant Number: 11271282) and the third author was supported by the Basic Science Research Program through the National Research Foundation of Korea (NRF) funded by the Ministry of Education, Science and Technology (Grant Number: 2012-0008170).

Received: 23 March 2014 Accepted: 15 September 2014 Published: 03 Oct 2014

References

- 1. Browder, FE: Nonlinear monotone operators and convex sets in Banach spaces. Bull. Am. Math. Soc. 71, 780-785 (1965)
- 2. Takahashi, W: Nonlinear Functional Analysis Fixed Point Theory and Its Applications. Yokohama Publishers, Yokohama (2000)
- 3. Deimling, K: Zeros of accretive operators. Manuscr. Math. 13, 365-374 (1974)
- Zhou, H: Convergence theorems of common fixed points for a finite family of Lipschitz pseudocontractives in Banach spaces. Nonlinear Anal. 68, 2977-2983 (2008)
- 5. Opial, Z: Weak convergence of successive approximations for nonexpansive mapping. Bull. Am. Math. Soc. 73, 591-597 (1967)
- 6. Goebel, K, Kirk, WA: Topics in Metric Fixed Point Theory. Cambridge Studies in Advanced Mathematics, vol. 28. Cambridge University Press, Cambridge (1990)
- 7. Bruck, RE: A simple proof of the mean ergodic theorem for nonlinear contractions in Banach spaces. Isr. J. Math. 32, 107-116 (1979)
- 8. Falset, JG, Kaczor, W, Kuczumow, T, Reich, S: Weak convergence theorems for asymptotically nonexpansive mappings and semigroups. Nonlinear Anal. 43, 377-401 (2001)
- Browder, FE, Petryshyn, WV: The solution by iteration of linear functional equations in Banach spaces. Bull. Am. Math. Soc. 72, 566-570 (1966)

10.1186/1029-242X-2014-384

Cite this article as: Guo et al.: Convergence theorems for continuous pseudocontractive mappings in Banach spaces. Journal of Inequalities and Applications 2014, 2014:384

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- ► Convenient online submission
- ► Rigorous peer review
- Immediate publication on acceptance
- ▶ Open access: articles freely available online
- ► High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at > springeropen.com